E & =X
1) — 6
(F9 2) 4a+9b
5
(R93) —1
(FF 4) -8
[FEES] x = 4 vy:' 7
9 +/5 3
(fH6) >
w7 | o - |
H 2
(FI8] [ =55 ||Fo=resprsemmessmaasipdsuiad
(A 5
(Fd9)
A P D
/ /x\ /
B / C
/N
[Frﬁl] i o5

(F2) | (&2 #©3)

b az ANEXNTRT &,

b= a+12
dz cx AWk TERT L,
=c+12
Lo 7T,
P:a+b+c+d
4
_atcH+12
2
24P =gax2tetll
: =12a+12c¢c+ 144 e
7z,
Q=bd— ac

\=(a+12)(c+1‘2)—ac
=12a+12c+144 weveeinenen

Q=24P

4
¥ (7 —ik - SERTH)

ﬁl] 7
(fF2] =)
[R5 3I] 7
(fF 1] 4
(2] | @ | (R&E B3]

AAPREAAQRIZBWVT,
HEBRLENG,

AR=AR rererereves. (1)
"REM L, '

AP=AQ zmsesesssvien (2)
REND,

BR=QR

ZLVWIlEHT2HAEAAIEIZELVWNG,
LPAR=ZQAR rorveee (3)
(1, (2), WXy, 28T L

ZOMOEBRENTNEL VA D,

ANAPR = ANAQR
— ) 1
R 5]
s | @ -t ettty miieiiied ittt
%)
B 9
(RF1) AR N R e
M 4
= 1
(R92) < p)
Ir 3

[ﬁ:ﬁ’?] /.i\‘——c rIEgJ —6) nﬁé%‘i%o




	2092_001

